
Let S = {1, 2, 3, 4, 5, 6, 7, 8}, and let

G =
{[

1
]
,
[
1 3 2

] [
4 6 5

] [
7 8

]
,
[
1 2 3

] [
4 5 6

]
,

[
1 3 2

] [
4 6 5

]
,
[
1 2 3

] [
4 5 6

] [
7 8

]
,
[
7 8

]}
⊂ S8.
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G =
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1
]
,
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4 6 5
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7 8

]
,
[
1 2 3

] [
4 5 6

]
,

[
1 3 2

] [
4 6 5

]
,
[
1 2 3

] [
4 5 6

] [
7 8

]
,
[
7 8

]}
⊂ S8.

Find
1. stabG(3), orbG(3) 4. stabG(6), orbG(6)

2. stabG(4), orbG(4) 5. stabG(7), orbG(7)

3. stabG(5), orbG(5) 6. stabG(8), orbG(8)

What can we conclude about the orbits of the elements of
S?
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Let S = {1, 2, 3, 4, 5, 6, 7, 8}, and let

G =
{[

1
]
,
[
1 3 2

] [
4 6 5

] [
7 8

]
,
[
1 2 3

] [
4 5 6

]
,[

1 3 2
] [

4 6 5
]
,
[
1 2 3

] [
4 5 6

] [
7 8

]
,
[
7 8

]}
⊂ S8.

Then

stabG(1) = {
[
1
]
,
[
7 8

]
} orbG(1) = {1, 2, 3}

stabG(2) = {
[
1
]
,
[
7 8

]
} orbG(2) = {1, 2, 3}

stabG(3) = {
[
1
]
,
[
7 8

]
} orbG(3) = {1, 2, 3}

stabG(4) = {
[
1
]
,
[
7 8

]
} orbG(4) = {4, 5, 6}

stabG(5) = {
[
1
]
,
[
7 8

]
} orbG(5) = {4, 5, 6}

stabG(6) = {
[
1
]
,
[
7 8

]
} orbG(6) = {4, 5, 6}

stabG(7) = {
[
1
]
,
[
1 2 3

] [
4 5 6

]
, orbG(7) = {7, 8}[

1 3 2
] [

4 6 5
]
}

stabG(8) = {
[
1
]
,
[
1 2 3

] [
4 5 6

]
, orbG(8) = {7, 8}[

1 3 2
] [

4 6 5
]
}

December 6, 2002

3


